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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9683554951 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The age of the reptiles
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Options :

1. %



Palacozoic
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Cenozoic
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Mesozoic
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Proterozoic
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Question Number : 2 Question Id : 9683554952 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Univalve shell 1s found in
0% Szrer S50 woG Eyen
Options :
Gastropods
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Brachiopods
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Lamellibranchia
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Brachiopods and Lamellibranchia

TP e o0ain erd (Eroddie

Question Number : 3 Question Id : 9683554953 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The significance of Fossils 1s

dorere T8 (Franers

Options :
The determine the composition of rocks

der [VoPDERin Be0Jiw

To determine the age of the rocks
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For classification of rocks
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For classification of minerals
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Question Number : 4 Question Id : 9683554954 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The exoskeleton of sponges is made up of

FyoE @) e EJn TS AP

Options:
CaPO4

Silica

Arogonite
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Question Number : 5 Question Id : 9683554955 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Trilobites are restricted to

|BS° Tefen & (Bod OST TS HOMWS

e
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Options:
Mesozoic era
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Cenozoic era



Palaeozoic era

Proterozoic era
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Question Number : 6 Question Id

Question Mandatory : No

: 9683554956 Question Type : MCQ Option Shuffling : Yes Is

Correct Marks : 1 Wrong Marks : 0

The following molluscas are entirely marine

=
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Options:
Cephalopods
DS P

Gastropods
rolEP e

Pelicypods
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Echinodermata
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Question Number : 7 Question Id

Wi Hlosod.

=

: 9683554957 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Trichinopoly is a type area for the study of

BOHIFO (Frosls & ogcHiosH TodIs

Options :
Cretaceous system

BENREDHT 5P
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Jurassic system

Triassic system
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Question Number : 8 Question Id : 9683554958 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Foot prints. trails and burrows are termed as

2P So(en, Py HXen HOAH FOHeY DI HedPSd

Options :
Body fossils

. 388 Bemoen
1.



Pseudo fossils

o Sereren
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Trace fossils
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Index fossils
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Question Number : 9 Question Id : 9683554959 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Define the Index fossil
Q08 Bermiin OXmPRID
Options :
Geologically long geographically short

O8PD vy THES
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Geologically short geographically long
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Geologically and geographically long
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Geologically and geographically short
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Question Number : 10 Question Id : 9683554960 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are Nummulitis

REnBER eRe W
Options :
Echinodermata

Protozoa

¥t St e

Porifera

SROERS

Coelenterate

Question Number : 11 Question Id : 9683554961 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Trilobites comes under

B er KBod TS

Options :
Echinodermata

;
a%&?ﬁﬂé&:m

Brachiopod

ratslovvlvin

Mollusca

SVOI)
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Arthropod

-
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Question Number : 12 Question Id : 9683554962 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The Glosopteris flora is found

ERPR0R &p8 & 8o Svod® efoihi

Options :
Kurnool rocks

- éiﬁ?c;_a:: Seen



Deccan Traps
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Gondwana rocks

ﬁ"'c::aﬁ;r% Been
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Cuddapah rocks

BES Been
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Question Number : 13 Question Id : 9683554963 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Fossils are generally found in

Beoraren FESnore S (808 3o 5QDirow
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Options :
Igneous rocks

ofy doen
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Sedimentary rocks

oS50 See
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Metamorphic rocks
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Both Igneous and Metamorphic rocks
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Question Number : 14 Question Id : 9683554964 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The Pakhal series in Telangana is regarded to be equivalent of

Boorrnd™ arerd 38 & (Bod FHHD JSrosBor VOKBTE

Options :

Cuddapah system

Jurassic system
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Gondwana system
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Question Number : 15 Question Id : 9683554965 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Pullampet shales are also known as

Hyonds T d) So HOT0E FAleh)

Options :
Cumbum shales

Sogio )

Tadipatri shales
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Vempalli shales
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Kolanmala shales
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Question Number : 16 Question Id : 9683554966 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Eparchaean unconformity separates the

o -
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Options :
Archaeans and Cuddapahs
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"uddapahs and Kurnools

{
S65 SHBosn 5&5&5

Kumools and Gondwanas

. éfﬁo&ﬁ oD ot e
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Gondwanas and Cuddapah
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Question Number : 17 Question Id : 9683554967 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Age of the Deccan Traps

| = Py 4 -
TS (&) Sokr
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Options :
75 million years

75 . Lo.

45 million years

45 §n.%o0.

55 million years

L« 55 D0
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65 million years

b5 &0.30.

Question Number : 18 Question Id : 9683554968 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The term ‘Archaean” was first coined by

eO)IHS Tnderr BEE0LS T8

Options :
T.H.Holland
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James Hutton
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Question Number : 19 Question Id : 9683554969 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



How many physiographic divisions are there in India?

PFESUT° IY) FEPRQE LErP BTOD

Options :
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Question Number : 20 Question Id : 9683554970 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Bhima series 1s equivalent of
L 13RS B0 JArIPoHd

Options :

Sullavai
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Mallampally

DLoRD
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Question Number : 21 Question Id : 9683554971 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The equivalent of Vindhyan super group in south India 1s
2 — L a
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Options:

Pakhals
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£
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Question Number : 22 Question Id : 9683554972 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The Dharwar Schist have been named as

o8 2D HFE
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Options :

Fundamental gneissic complex

BrsDos P25 srony
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Sargur schist complex
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Older greenstone belt
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Newer greenstone belt
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Question Number : 23 Question Id : 9683554973 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The total thickness of the Cuddapah super group
S50 Seib (S GoE) Iweo otio
Options :
10. 000 ft
10,000 &thibhen



20. 000 ft
20,000 ethiren

40. 000 ft

40.000 etHrhen
3. %

30,000 ft

30,000 etHiven
4. %

Question Number : 24 Question Id : 9683554974 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Bhander group of the Vindhyans 1is

Do NG otsf (-

Options :
Armaceous

lovy
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Argillaceous
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Calcareous
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Partly arnaceous and partly calcareous
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Question Number : 25 Question Id : 9683554975 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The rocks belonging to Gondwana are of

Tofarad L0050 deen
Options :

Glacial origin

S

E'F*
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Fluviatile origin

Lacustrine origin

e PO00 &R0

Marine origin
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Question Number : 26 Question Id : 9683554976 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The Deccan Traps show maximum thickness in the

SEN (D) Tws) 5NN oEn O HHNS Sok

Options :
North

&35
1. %

South
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Question Number : 27 Question Id : 9683554977 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Brown coal 1s also known as

SR IY T S (Bod Dore Erme Dedkh.

Options :
Peat
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Bituminous

A
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Lignite
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Anthrasite
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Question Number : 28 Question Id : 9683554978 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Magnasite 1s an ore mineral of

Sefipd @ e geo

Options :
Magnesium
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sufhedo
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Manganese

I
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Copper
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Question Number : 29 Question Id : 9683554979 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Sphalerite 1s an ore mineral of

B8 O d pleo

Options :
Platinum
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Manganese
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Thorium
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Question Number : 30 Question Id : 9683554980 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Bauxite 1s an ore mineral of

. A e =
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Options :
Aluminium

LT SeE e tAlevele!
1.v ¢

Copper
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Iron
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Manganese
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Question Number : 31 Question Id : 9683554981 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Barytes are generally used in

Feedorr RO g addrNo

Options :
Petroleum drilling
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Groundwater drilling
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Ore drilling

ol VA [woc)

Coal drilling

Grd D|tSes
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Question Number : 32 Question Id : 9683554982 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Kolar and Hutt1 mines are famous for
Sfer SH0a HBE e T8 (BRG
Options :
Gold deposits
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Iron deposits
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Copper deposits
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Silver deposits
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Question Number : 33 Question Id : 9683554983 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What 1s Tenor

SFFodo @Iran?

Options :
% of rock forming minerals in ores

S S Eﬁéeté PleFe TE0

% of gangue minerals in ores

S FP wwow TEo
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% of non-metal content in ores

PN o8 vod @0

% of metal content in ores

PSS 55k ©od T80
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Question Number : 34 Question Id : 9683554984 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which raw material i1s used in glass industry?

ey DOITHE® Snd Hrrdorr TR adTrENFS
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Options :
Feldspars
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Quartz

=ylel
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Barvytes
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Hematite
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Question Number : 35 Question Id : 9683554985 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Limonite is

DINTEL » TP o

Options:
Iron

=SERVENYY

Thromium
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Manganese
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Question Number : 36 Question Id : 9683554986 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which is the heavy spar mineral
&2 [8od 8BS a8 pdo D&
Options :

Olivine

on

L M
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Gypsum

Question Number : 37 Question Id : 9683554987 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is a carbonate ore mineral of lead

N0 Qo8] S8)N e o b

Options :
Galena

1 % DO

Cerrusite

e

Sphalerite
B

Anglesite

Question Number : 38 Question Id : 9683554988 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The chemical composition of Chromite
B8 GE) BIPAHS VoFoeaso

Options :

FeCr,O,
2.9 )



C‘er} :
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Question Number : 39 Question Id : 9683554989 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Uranium generally present in

PRS0 G000 &2 (0d 0 ofoHid

Options :
Acid igneous rocks

&5;_0__ &ﬁﬁ; deen

Sedimentary igneous rocks
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Metamorphic rocks
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Question Number : 40 Question Id : 9683554990 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Apatite 15
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Options :
Carbonate
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Phosphate
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Silicate
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Hydroxide
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Question Number : 41 Question Id : 9683554991 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Composition of the Earth’s Core
4IPS0l hotiwo GwE) Sogbedso

Options :
, Fe-Ma

Ni-Fe



Si-Al

S1-Ma

Question Number : 42 Question Id : 9683554992 Question Type

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The cause of the Tsunami 1s
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-, Ty, =
el o SO0

!

& Joganod
Options :
Earthquakes on seafloor

Bn(oross Je 2e8o0do
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Volcanoes

ofind8 mren
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Cyclones

3 % [8& rooceen

Earthquakes on land
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Question Number : 43 Question Id : 9683554993 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes Is

: MCQ Option Shuffling : Yes Is



Drumlins are

(BT oIre

Options :
Glaciers deposits

2os0H DZIred

1.9 -
Lake deposits
, Slapre 0:51&&0
Wind deposits
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3. %
River deposits
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Question Number : 44 Question Id : 9683554994 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Karst topography 1s found in
=) BB & (Bod de & o
Options :
Limestone
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Sandstone
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Shale
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Siltstone
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Question Number : 45 Question Id : 9683554995 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Age of the Earth

500 ) DA

Options :
30.000 million years

30,000 &o.%o.

4000 million years

Ly 4000 2030

3600 million years

. » 3600 .%o,



4600 million vears

4600 &0.%0.

Question Number : 46 Question Id : 9683554996 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Barchan 1s

- él?\q--\
i.p.-ﬁ Dt

Options :
Rounded dune

Do B8 &Je

1. %

Oval shaped dune

eolises =58 EJen

Cris-cross shaped dune

&% Fr aRoE &ven
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Crescentic shape of dune
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Question Number : 47 Question Id : 9683554997 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Secondary waves pass through the

&r&oD SSorren IQ o (Hasrdan

Options :
Only solids

HF Bergee 1HOS Se(EEh
1. -

Both the solids and liquids
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5 % $08 0dim (58 émﬂt::;a: [gblalny

Only liquids
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Semi liquuds and semu solids
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Question Number : 48 Question Id : 9683554998 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Detfine Meanders

36 o & (Meanders) D Do

Options :
Curve shape of the mountains

2B 88 Soemeen
1. % ”



Curve shape of the glacial deposits

S & Srared $56 SEdven

Curve shape of the rivers

3 ¢ SBERH Stoen

Curve shape of the wind deposits
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Question Number : 49 Question Id : 9683554999 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Prism means
He80 IrIR
Options :
Open form having four faces

Teenlh Swgren e DY &=Bo
1.4

Closed form having four faces

e sgren e Qo8 Brdo

2. #
Both open form and closed form
3 % Qo oaw E:JE%@&“‘“@“E‘J

Both open. closed form and having four faces
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Question Number : 50 Question Id : 9683555000 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Crystal system of Garmnet 1s

o) Gns) NHES a0
(= = oo =2

Options:
Orthorhombic

s5oeof)E / DRETE Srad
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Question Number : 51 Question Id : 9683555001 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s a basal pinacoid

ST &0 OFEIW?

Options :



Open for having 8 faces

8 Sogred® DS drdo
1. %

Closed for having 4 faces

4 Swngred® K0S ErBo
2. ®

Closed form having 6 faces

B Sogred® Bosd Lrdo
3. %

Open form having 2 faces

2 Swgred® DHE tro
4.

Question Number : 52 Question Id : 9683555002 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Contact Goniometer is used for measuring of
JEESrdD TR Fentherd ad@rRardd
PJN-JEBELW Gaded STe0wN5) wld o°
Options :
Interfacial angle of a crystal

9880 TnE) wostny o
1.v 7 i N

General symbol of a crystal

@80 @B Sroede D50
2 % o o (=4
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Axaal ratio of a crystal

@80 o‘;ﬁ:ﬁ* @S{a%@
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Symmetry of element
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Question Number : 53 Question Id : 9683555003 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s a crystal system of Diamond

J(eo Gg) DS & 5-«

Options :

Orthorhombic crystal system

DHAIRE L i
1% - o 2 g

Tetragonal crystal system

5080 9B S

-r-.*nE}x

Hexagonal crystal system

5¢5 55 ﬂ“ﬁjé a3 53:.3
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Cubic crystal system
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Question Number : 54 Question Id : 9683555004 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following systems has all closed forms
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DY Srare e S0
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Options :
Triclinic

@5

Monoclinic

D85S

Trigonal
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Cubic
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Question Number : 55 Question Id : 9683555005 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following has three axes of 4-fold symmetry

Srth - ogre wrenh $8 R0 ZONS o
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Barytes

5ER

re

Gypsum

- a%%:ﬁfo

(Galena

o=
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Rutile
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Question Number : 56 Question Id : 9683555006 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
K-Feldspar is altering into

S- 2OR0 Srd) Bodrre HSAS N0

Options :

Serpentine



Chlorite

y(stH]
Kaolin
Sond
4.

Question Number : 57 Question Id : 9683555007 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which mineral exhibits double hardness

Quartz

soo 5y
sl ok
2. %

Orthoclase

3.8 ¢



Question Number : 58 Question Id : 9683555008 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Aragonite 1s the polymorph of
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Options :
Calcite
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Siderite

=
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md;ef
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Question Number : 59 Question Id : 9683555009 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Silicates structures are formed by
2OE Aden DT o
Options:
Atomic structure

00
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Crystal system

ﬁ\_;,f;é gt
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Chemical composition
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3, %

Chemical bond

SarcHdE polo
et
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Question Number : 60 Question Id : 9683555010 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Adamantine lustre 1s a characteristic feature in

)

olDED 8 @ P20 TPHROS
Options :
Orthoclase

lopsts
1.8 °

Diamond
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Corundum
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Topaz
Saed

Question Number : 61 Question Id : 9683555011 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Andalusite mineral crystallises in

A
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o j=)

£

Options :

Orthorhombic system

Hexagonal system

H$e98%m
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Cubic system
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Question Number : 62 Question Id : 9683555012 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Pyrope mineral belongs to
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Options :

Garnet group

mﬁ;&f [arsro
1.9

Silica group
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nD= Doz

Amphibole group
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Pyroxene group
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Question Number : 63 Question Id : 9683555013 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Isotropic mineral 1s
Heniied plxo b6
Options :
Quartz
=5

1.2 %%

Orthoclase

Sloyets
2.% ©



Gamet

ﬁa;ef

Nepheline

2. o =
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Question Number : 64 Question Id : 9683555014 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Augite mineral generally exhibits
D¢ pemo Fordrdnre SrL0 580
Options :
Parallel extension

$5roS8 Do

[sotropism

Dor&ass

Higher extension angle

s Dendsd oo
v 08 &=

Double Refraction
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Question Number : 65 Question Id : 9683555015 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Pliochroism can be seen in

QAF(roneo0 (38 H$0J8T0) @ pleso HIrddod

Options :

Quartz

=5
=g

1. %

Olivine

Biotite

D@

Calcite

Question Number : 66 Question Id : 9683555016 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The intergrowth between quartz and alkali feldspars result as

sﬁag 005N edEd ?oé%g DG 2D ©odd B HOSore A HabIo
Options :
Graphic
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Perthite
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Antipertite

w0 Hbae
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Microperthite
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Question Number : 67 Question Id : 9683555017 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Cross-hatch twinning 1s generally present in

—
R D arE (BEgen HRxo
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Options :
Microcline
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Question Number : 68 Question Id : 9683555018 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What 1s the Refractive Index of Pure Canada balsam

S addan G ISP Srdto dod

Options :
1.80

1. %

1.54

1.45

1.62
4. %

Question Number : 69 Question Id : 9683555019 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following properties is not observed under ordinary light

PGS0 Po8E® 522059 580

Options :

Inclusions

. ©0 SSTapen

Colour
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Pleochroism

Question Number : 70 Question Id : 9683555020 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Tourmaline shows polarization due to
0E 0383 | volarization) & (508 =8¢ HES00R
éa:ntﬁ;:“”‘ P20 (Foaies (HIEcH (polarization) & (S0 S0k (DHE)0WH
Options :

Dispersion

Absorption
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2. &

Retflection

Joeaitdao
3. 3

Refraction



Question Number : 71 Question Id : 9683555021 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Hypersthene granite 1s called as
TRH0RS (RN T8 D& Erts eord
Options :
Granite
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e

Gabbro
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Pyroxinite

agas

Charnockite
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Question Number : 72 Question Id : 9683555022 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Granites generally occurs as

P56 (13 O ErHos® ediron

Options :
Batholith

1 RS DE



Lopolith
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Laccolith
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Question Number : 73 Question Id : 9683555023 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What 1s the non-detrital rock in the following?

T BlEOS o & (Bod T&S° HQoHE®

Options :
Sandstone

25800

Shale

-
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Conglomerate
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Limestone
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Question Number : 74 Question Id : 9683555024 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dynamothermal metamorphism can lead to the formation of
TR Cﬁééﬁ SrTross (3P0 Hen lejfay
Options:
Schists

2
Y

e

e
&

Gneisses

Both schists and gneisses
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3.
Phyllite
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Question Number : 75 Question Id : 9683555025 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Kimberlite 1s a
8028 B edrr
Options:
Intermediate rock

2068 e 3o



Acidic rock
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Ultra matfic rock
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Sedimentary rock
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Question Number : 76 Question Id : 9683555026 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Volcanic equivalent of syenite 1s

JAHRES B0 SIroSEH I avose do I

Options:
Trachyte

1w 738

Granite
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Gabbro
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Basalt
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Question Number : 77 Question Id : 9683555027 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What is a dvke form
TS &rdo odrre
Options :
Concordant form

1 % OIS BrH0

Discordant form

D85S 5FBo

Both concordant and discordant forms

@ oo (P&nE srdo

Extrusive with concordant form
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Question Number : 78 Question Id : 9683555028 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Ophitic texture commonly present in
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Options :
Dolerite

1| v GCBE

Granite
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Question Number : 79 Question Id : 9683555029 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A gneiss derived from Igneous rock 1s known as

of) 8oo Dol IHIES IV HI LedTFH

o

Options:

Orthogenesis

Paragenesis
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Palaeogenesis

Petrogenesis
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Question Number : 80 Question Id : 9683555030 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An organic sedimentary rock 1s

£,

3 BoDOLPN ©IZTH Bw 1B

Options :
Sandstones

258000

Conglomerate

Sorpsoed

Shales
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Fossiliferous limestones
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Question Number : 81 Question Id : 9683555031 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Highly porous and permeable rock is

©68 Folis DO FBIESD 5DA wod dv

Options:
Shale

px @S

Sandstone

=doBoron

Limestone
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Question Number : 82 Question Id : 9683555032 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Migmatite is
B o
Options :
Sedimentary rock

B
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LhY
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Igneous rock

eofide
2.%

Both Igneous and Sedimentary rock

L O oo ©ITD B
Hybrid rock

P[0 de
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Question Number : 83 Question Id : 9683555033 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Sandstone are

addeon &2 (808 ES® GR8 Jo0dods

Options:

Argillaceous rocks

985 deen

1. %
Rudaceous rocks

5raah Seen

Arenacious rocks
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Non-clastic rocks
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Question Number : 84 Question Id : 9683555034 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Coarse grained texture is present in

Sz Bandind HoLarR) [HK5G)0T de

Options :
Dolerite

G oDes

1. %

Basalt
e

EJI]

Granite
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Rhyolite
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Question Number : 85 Question Id : 9683555035 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The intergrowth between orthoclase and albite result as
ﬁ@gﬁ Hocn wdDE Pl SEEE $OE
Options :

Perthite
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Mirmockite
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Question Number : 86 Question Id : 9683555036 Question Type

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mud cracks are generally present in

o088 DHEY) BES0

&b
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doen od

Options :
Rudaceous rocks

5rEACRN dee

Arenaceous rocks

sPenssndh Been

Argillaceous rocks
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Non-clastic rocks
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: MCQ Option Shuffling : Yes Is



Question Number : 87 Question Id : 9683555037 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Columnar joints can be present in
Terdard Sofen (©EgeE B¢
Options:
Granite
2

1. %

basalt
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syenite
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Diorite
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Question Number : 88 Question Id : 9683555038 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Dunite 1s a

SR8 o

Options :



Polyminrallic rock
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Diminerallic rock
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Monominerallic rock
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Biminerallic rock
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Question Number : 89 Question Id : 9683555039 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pegmatite generally exhibits

:ﬂﬁ EeT S8 D8Y ©ge0

Options :

Fine-grained texture

<5) oo SAHiso

Medium-grained texture

5:065:* % Deooedins Sohdo

Very coarse-grained texture
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3. e



Coarse-grained texture

R.LQ © Draoding JaHdo

Question Number : 90 Question Id : 9683555040 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Essential minerals present in granite
RS GwE) ©melDE edwrew
Options:
Quartz. orthoclase

528 0050 B0
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Quartz. pyroxene
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2. %
Quartz. plagioclase
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Question Number : 91 Question Id : 9683555041 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The granites are characterized by
(1D Tg) Schdo
Options :
Panidiomorphic

FoLvlatevvbuvlopts)
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Allotriomorphic

Hypidiomorphic
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Ophitic
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Question Number : 92 Question Id : 9683555042 Question Type

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Vesicular and amygdaloidal structures generally present in
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Options :
Granite
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: MCQ Option Shuffling : Yes Is



Basalt
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Question Number : 93 Question Id : 9683555043 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Dip of the Reverse fault
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Options :
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Question Number : 94 Question Id : 9683555044 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The shape of anticline 1s

e
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Options :



Convex upward
—— eI T

1@ =vleluictle &wlgw&o
Concave upward
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Plane surface
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Both Concave and convex

205PseS 00N JErESES deo
4, %

Question Number : 95 Question Id : 9683555045 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Symmetrical ripples form due to
RS S8 Erdo GRS 5280

Options :

Current action

SEw-eaiinlely
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Wave action
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Both current action and wave action
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Storm action
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Question Number : 96 Question Id : 9683555046 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Nappe 1s the structure related to
T @ 55@@% Flekalolnlo AN A

Options :
Joints

1 % mothen

Faults

e
O
4
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Unconformities

[

3

afl wl wfl,
SV IRV SEVYY
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Question Number : 97 Question Id : 9683555047 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The distance between any two joints may described as
Both Sohe i Sroed) @ dFore Dedrd

Options :



Slip cleavage

HDg DEE[0

Bedding fissibility
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Cremilation cleavage
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Fracture cleavage
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Question Number : 98 Question Id : 9683555048 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Gravity fault 1s also known as
HE (Fos 1T D
Options :
Normal fault

| RS |godo

Wrench fault
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Thrust fault
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Reverse fault
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Question Number : 99 Question Id : 9683555049 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tear faults are a variety of

s (Pozre D 5258 Toddd

Options:
Strike faults
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o,

O

o,

(9]

Dip faults
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Strike slip faults
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Dip slip faults
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Question Number : 100 Question Id : 9683555050 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Faults are generated by
FomTen der 8 hEeown
Options :

Torsion
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Compression
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